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ANSWERS / RUBRICS

Question No: 11

a ) Write Roman numbers from 15 to 19. ( 5 marks )
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L5= Xy XV =15
16 =XVl Official Web www.schoolbasedassessment.pk XVI=16
17 =XVl XVI=17
18 =XVl XVIII = 18
19 =XIX XIX = 19

On writing for each correct Roman number give 1 mark
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Write all the even and odd numbers between 30 and 50 separately. (5 Marks)
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Even numbers: WWW.schoolbasedassessment.pk ol =
32,34, 36, 38,40, 42, 44, 46, 48 (2.5 marks) 32,34, 36, 38, 40, 42, 44, 46, 48(#2.5)
Odd numbers: 3l b

31,33, 35,37, 39,41, 43, 45, 47, 49 (2.5 marks) 31,33, 35.37. 390, 41, 43. 45,47, 400 £2.5)

Question No: 12

a ) Write the place value of each digit in 37625. (5 Marks)
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place value3=30000 (1 Mark) Q}"gu’63:30000 (ﬁil)
place value7= 7000 (1 Mark) =4 86§ 7= 700001
place value6=600 (1 Mark) =4 36 5626000 ~1)
placevalue2=20 (1 Mark) axfdl&‘ﬂuf2:20(/r}l)

= 1 Mark i '
place value5=15 (1Mark) ;,{db?JS:5(/l)

Write the given numbers in ascending and descending order. ( 5 Marks )
428, 955,625,125, 382


https://pecassessment.com/admin/pilot_items/pilot_view_combine/4082
https://pecassessment.com/admin/pilot_items/pilot_view_combine/24154
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428,955, 625,125, 382

Ascending order : 125, 382, 428, 625, 955 (2.5 marks) 125, 382, 428, 625, 955: 8152 2 5(#2.5)
Descending order: 955,625,428, 382, 125 (2.5 marks) 955, 625, 428, 382, 125;‘.5,/'__1%‘}(/2_5)

Question No: 13

a ) Solve 3546 — 8978. (5 Marks)

WWW.schoolbasedassessment.pk 8978.........
—3546(+3)
8978
-3546 (3 Marks)
>3 (2 Marks) 5432(#2)

If the price of one pencil is Rs 15, then find the price of 6 such pencils. (5 Marks)
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The price of one pencil= Rs 15 %JJ/’&VQZIS%’/
Number of pencils = 6 S utE=6
The price of 6 pencils = Rs 15 x 6 (3 marks) el Cutte=6x1501 (£3)

— Rs 90 (2 marks) :90Lu(/7} 2)
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